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ISHTIAQ TEXTILE MILLS LTD.

VISION/MISSION STATEMENT

· Our mission is to grow with sound finical position, excellent quality add efficiency of production at lower operating cost.
· To utilize available recourses to increase earnings to enable us to deliver a good return.

· To conduct business with responsibility,integrity,honesty and build long term relation with our valued customers and suppliers.

· To create better work environment to achieve goals.

· To fulfill the legal,social and environmental obligation.

· To work for the benefit of our shareholders,employees and the country.

            Ratio Analysis

1- Current Ratio = Current Assets / Current Liabilities

The current ratio measures the ability of the firm to pay is current bills while still allowing for a safety margin above their required amount needed to pay current obligations.

	Current Ratio
	2010
	2009

	
	=127,995,581/132,017,310
	=153,437,154/190,794,654

	
	0.96 : 1
	0.80 : 1


Analysis
Current ratio in 2009 is 0.80 but it increase in 2010, 0.96. One reason is increase in current assets in 2010, or current liabilities are decrease.  

2- Quick Ratio= Current asset-inventory/current liabilities
The quick ratio is similar to the current ratio but eliminates the inventory figure in the current assets section of the balance sheet. 
	Asset test ratio
	2010
	2009

	
	=127,995,581-44,424,635

/132,017,310
	=153,437,154-105,321,379
/190,794,654

	
	0.63 : 1
	0.25 : 1


Analysis
Quick ratio in 2009 is 0.25 but it increase in in 2010, 0.63. One reason is deacrease in current liabilities or current asset is increase or inventory is increased. In this the company liquidity is good. 
3- Inventory Turnover Ratio = C.G.S / Average Inventory
The inventory turnover ratio measures the number of times during a year that a company replaces its inventory. 
	Inventory Turnover Ratio
	2010
	2009

	
	=(533,653,368)/44,424,625
	=(239,947,738)/105,321,379

	
	(12.01)
	(2.27)


Analysis
 There is a decrease in stock turnover ratio (2.27) from times in 2009 and (12.01) times in 2010.

4- Average Payment Period = (Account Payable / Total Credit Purchase)

The accounts payable turnover ratio includes all outstanding obligations that a company owes its creditors

	Average Payment Period
	2010
	2009

	
	=36,939,538/957448
	=43,741,295/572893

	
	38.58 Days
	76.35 Days


Analysis
There is a  deacrease in average collection period from 38.58 Days in 2010 and 76.35 Days in 2009 increases. 
5-Total Asset Turnover   = Sales / Total assets
The total asset turnover is a measure of how efficiently and effectively a company uses its assets to generate sales.

	Total Asset Turnover
	2010
	2009

	
	=576,449,373/423,477,999
	=226,351,517/466,594,455

	
	1.36 
	0.48


Analysis

There is a increase in asset turn over ratio from 1.36 times to 0.48 times. That’s mean our fixed assets capacity is increased in 2010.
6-Total Debt Ratio   = Total Liabilities / Total Assets

Debt ratios measure the total amount and proportion of debt within the liabilities section of a firm’s balance sheet. These figures are normally appropriate for comparing a company performance from one period to another. 
	Total Debt Ratio 
	2010
	2009

	
	=423,477,999/423,477,999
	=466,594,455/466,594,455

	
	1
	1


7-Gross Profit Margin   = Gross Profit / Sale *100
The profitability measure the ability of the business firm to earn a profit from its operations through assets, sales, and equity.

	Gross Profit Margin
	2010
	2009

	
	=42,796,005/576,449,373
	=(13,96,221)/226,351,517

	
	7.42%
	(6%)


Analysis

GP Ratio is increased from 6% to 7.42%, sales are increased in more proportion in 2010 as compared to cost of goods sold.

8- Operating Profit Margin   = Operation Profit / Sale *100

The operating profit margin indicates the profits of the company before interest and taxes are deducted from firms operations. The higher the operating profit margin, the greater pricing flexibility a firm has in its operations.
	Operating profit Margin
	2010
	2009

	
	=32,899,884/576,449,373
	=(20,391,779)/226,351,517

	
	5.7%
	(9%)


Analysis

There is a decrease in operating profit ratio 9% in 2009 and  5.7% increase in 2010.There is an increase in salaries, wages and sales promotions and advertisements.

9-Net profit margin = Earning after tax/Sales
	Profit margin ratio
	2010
	2009

	
	=210,228,154/576,449,373
	=(33,123,641)/226,351,517

	
	0.01
	(0.14)


Analysis

There is a decrease in operating profit ratio in 2009 (0.14) and increase in 2010 is 0.01 .There is an increase in salaries, wages and sales promotions and advertisements.
10-Earning per Share = Earning after tax/ Total number of share
	Earning per share
	2010
	2009

	
	=10,228,154/12050000
	=(33,123,641)/(38950000)

	
	0.84
	(0.85)


Analysis

Earning per share is increased in 2010 from 0.84 and decrease in 2009 by (0.85). Company is keeping no reserves. All profit is available for share holders. Earning per share increased by improved profits.
11-Return on total asset = Earning after tax/ Total asset

	Earning on total asset
	2010
	2009

	
	=10,228,154/423,477,999
	=(33,123,641)/466,594,455

	
	0.024
	0.07


Analysis

Return on total asset is decreased from .07 to 0.02. The company loss is also increase. It shows how well a company uses its assets to generate profits.
Review
From Investor’s Point of view:
                                                    We have increased Gross Profit Ratio and NP Ratio. Company’s business is expanding because sales are increasing and company’s other operating expenses are decreasing. Loss per share is also decreased and profits will available for share holders in future. Return on capital is also increased, above all signs are positive for investment.

 From Lender’s Point of View
                                                         Company has good liquidity position. We have increased current ratio but liquid ratio is showing increasing trend.  Finally we hope that Company’s financial will improve in future.

HAJRA TEXTILE MILLS LTD.

VISION STATEMENT

To attain a leadership position in the textile sector in Pakistan through commitment, integrity, honesty and team work.

MISSION STATEMENT

The company will conduct its operations prudently assuring customers satisfaction and to provide profit as well as growth to its shareholders through:

· Acquiring sophisticated technology by continuoes balancing, modernization and replacement (BMR) of plant and machinery.

· Manufacturing of cotton and blended yarn in accordance with the customers requirement and market demand.

· Providing quality products to our cutomers mainly engaged in the manufacturing of textile products.

· Striving hard to develop new markets for the sale of our products.

· Protecting the environment and contributing towards the economic growth of the country as a good corporate citizen.

              Ratio Analysis
1- Current Ratio = Current Assets / Current Liabilities

The current ratio measures the ability of the firm to pay is current bills while still allowing for a safety margin above their required amount needed to pay current obligations.

	Current Ratio
	2010
	2009

	
	=196,456,885/299,850,503
	=192,452,572/299,833,952

	
	0.65:1 
	0.64:1 


Analysis
Current ratio in 2009 is 0.64 but it increased in 2010, 0.65. One reason is increase in current assets in 2010, or current liabilities are deacrease.  

The current asset is increase or current liabilities are decrease.

2- Quick Ratio= Current asset-inventory/current liabilities
The quick ratio is similar to the current ratio but eliminates the inventory figure in the current assets section of the balance sheet. 
	Asset test ratio
	2010
	2009

	
	=196,456,885-22,133,778/299,850,503
	=192,452,572-31,235,916/299,833,952

	
	0.58:1 
	0.53:1 


Analysis
Quick ratio in 2009 is 0.53 but it increased in 2010, 0.58. One reason is decrease in current liabilities or current asset is increase or inventory is increased. In this the company liquidity is good. 
3- Inventory Turnover Ratio = C.G.S / Average Inventory
The inventory turnover ratio measures the number of times during a year that a company replaces its inventory. 
	Inventory Turnover Ratio
	2010
	2009

	
	(992,831,811)/22,133,778
	(782,176,340)/31,235,916

	
	(44.8)
	(25.04)


4- Average Payment Period = (Account Payable / Total Credit Purchase)
The accounts payable turnover ratio includes all outstanding obligations that a company owes its creditors

	Average Payment Period
	2010
	2009

	
	=100,720,380/756,670,639
	=126,932,772/646,979,492

	
	0.13 Days
	0.19 Days


Analysis
There is a slight decrease in average payment period from 0.13 Days in 2010 and increase in 0.19 Days in 2009. Credit purchase is also increase.
5-Total Asset Turnover   = Sales / Total assets
The total asset turnover is a measure of how efficiently and effectively a company uses its assets to generate sales.
	Total Asset Turnover
	2010
	2009

	
	=1,007,562,932/704,810,547
	=776,073,080/718/414,833

	
	1.4
	1.0


Analysis

There is a decrease in asset turn over ratio from 1.0 in 2009 times but increase in 2010,1.19 times. That’s mean our fixed assets capacity is increased in 2010 to generate the sales efficiently.

6-Total Debt Ratio   = Total Liabilities / Total Assets
Debt ratios measure the total amount and proportion of debt within the liabilities section of a firm’s balance sheet. These figures are normally appropriate for comparing a company performance from one period to another. 
	Total Debt Ratio 
	2010
	2009

	
	=1,159,516/2,443,279
	=710,669/2,302,490

	
	1.02
	1.29 


Analysis

Current ratio in 2009 is 1.29 but it decreased in 2010, 1.02. One reason is increase in total liabilities in 2010. Although total asset are also increased but total liabilities increase in more proportion as compared to total assets.
7-Gross Profit Margin   = Gross Profit / Sale *100

The profitability measure the ability of the business firm to earn a profit from its operations through assets, sales, and equity.

	Gross Profit Margin
	2010
	2009

	
	=14,730,821/1,007,562,632
	(6,103,260)/776,073,080

	
	1.4%
	(0.7%)


Analysis
GP Ratio is increased from 1.4% in 2010 and decrease in 2009,(0.7%), sales are increased in more proportion in 2010 as compared to 2009.

8- Operating Profit Margin   = Operation Profit / Sale *100

The operating profit margin indicates the profits of the company before interest and taxes are deducted from firms operations. The higher the operating profit margin, the greater pricing flexibility a firm has in its operations.
	Operating profit Margin
	2010
	2009

	
	=442,006/1007,562,632
	(24,840,217)/776,073,080

	
	0.04 %
	10.8%


Analysis
There is a decrease in operating profit ratio from 0.04% in 2010 but increase by 10.8% in 2009.There is an increase in salaries, wages and sales promotions and advertisements.

9-Net profit margin  = Earning after tax/Sales

	Profit margin ratio
	2010
	2009

	
	(25,018,836)/1007,562,632
	(84,168,860)/776,073,080

	
	(0.024)
	(0.108)


Analysis

Earning per share is decreased from 0.108 to 0.024. Company is keeping no reserves. All profit is available for share holders. Earning per share decreased instead of improved profits.

10-Earning per Share = Earning after tax/ Total number of share

	Earning per share
	2010
	2009

	
	=(25,018,836)/(1.82)
	(84,168,869)/(6.12)

	
	0.98
	0.98




Analysis
               There is no change of profit earning in both years.The  profit can be earn on each shares in 2009 is 0.98 and same earns in 2010
11-Return on total asset = Earning after tax/ Total asset

	Earning on total asset
	2010
	2009

	
	=(25,018,836)/704,810,547
	(84,168,860)/718,414,833

	
	(0.035)
	0.11


Analysis

Return on total asset is decreased from (0 .035) in 2010 and increased in 2009, 0.11. The company loss is also increase.

Review
From Investor’s Point of view:
                                                    We have increased Gross Profit Ratio and NP Ratio. Company’s business is expanding because sales are increasing and company’s other operating expenses are decreasing. Loss per share is also decreased and profits will available for share holders in future. Return on capital is also increased; above all signs were show negative for investment.

 From Lender’s Point of View
                                                         Company has not so good liquidity position. We have increased current ratio but liquid ratio is showing decreasing trend .So, we hope that Company’s financial will improve in future.
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